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No. HER% ARTEH#E AEE | Bz | Xz e (1 Sv/B%) (mSv/4E) HF T (0870mSv/F) EDE
No. pN=E4 5cm 50cm im 5cm 50cm 1m 5cm 50cm 1m

_ - 1 |EERR 0.07 0.07 0.06 0.38 0.35 0.34 | FUT [FHLUT |FHUT

1| 2EREM BE—THI1E26S 108178 | 904 | £
2 |BAO 0.07 0.07 0.06 0.37 0.37 0.34 | FHLUT [FHLUT |FHLT
1 |EEHPR 0.06 0.06 0.06 0.32 0.32 031 |'FFHLUT [FHLT |FHLT

2| F{EREM T{ERT5E 315 108188 | 840 | B
2 |BAO 0.07 0.07 0.06 0.35 0.37 033 | FFHLUT [FHLT |FHLT
1 |EEHPR 0.05 0.05 0.04 0.25 0.26 022 | FHLUT [FHLT |FHLT

IEBRAREN |EBOFE4HE|40FH8| 108178 | 16:27 | B
2 |BAO 0.04 0.04 0.04 0.19 0.20 021 | FFHLUT [FHLUT |FHLT
1 |BEEPR 0.05 0.05 0.05 0.26 0.27 0.26 | LT |FHLUT |FEHLUT

A/MUEBRRER  [{MUBZTBIEE 108188 | 16:40 | BE
2 |HAO 0.08 0.08 0.07 0.43 0.43 0.38 | FHLUT [FHLUT |FHLT
B 1 |EESR 0.05 0.05 0.05 0.26 0.27 026 | FEHLUT [FHLUT [FHLUT

5|TEERR BT TEERFESHEN 165 Hh 108188 | 1437 | B
2 |BAO 0.06 0.06 0.05 0.33 0.29 027 | FHLUT [FHLUT |FEHLT
1 |BEEPR 0.07 0.07 0.07 0.36 0.37 0.35 | LT |FHLUT |FEHLUT

6|ILORBEFT WWARTH2&15 108178 | 1257 | 2
2 |HAO 0.07 0.07 0.06 0.37 0.36 033 |FEHUT [FHUT [FHUT
_ _ 1 |EESR 0.06 0.06 0.05 0.32 0.32 027 | FHAUT |FHLUT [FHUT

11EREER kR -THs%SS 108178 935 | 2
2 |HAQO 0.06 0.07 0.06 0.34 0.37 0.33 | FHUT [FHLUT |FHLUT
~ _ 1 |EEFR 0.06 0.07 0.07 0.34 0.35 0.36 |TFHLUT |TFHUT [FHUT

8| MR IR BT R =TH5%&6E 108188 | 16:14 | B
2 |HAQO 0.07 0.07 0.07 0.37 0.35 0.35 | FHUT [FHLUT |FHLUT
_ 1 |EEFR 0.07 0.07 0.07 0.38 0.39 0.37 | FHLUT |TFHUT [FHUT

9| ILERBEFT 2 1L S Hh = 1 F Hh2 108178 1005 | £
2 |HAQO 0.08 0.07 0.06 0.42 0.37 0.32 | FHUT [FHLUT |FEHLUT
_ 1 |ERiAE 0.07 0.07 0.06 0.36 0.37 0.34 | FHLUT |FHUT [FHUT

10|HEZHZREA HEZ=X—TH1%6% [10A178| 1037 &
2 |HAO 0.07 0.07 0.06 0.39 0.36 031 | FHUT |FHLUT |[FEHUT
_ 1 |EESRR 0.05 0.06 0.05 0.25 0.29 026 | FHUT [FHUT [FHUT

1| EREA mhEoHE 14621 (108188 | 13:52 | B
2 |HAO 0.06 0.07 0.06 0.33 0.35 033 | TFHUT |FHLUT |[FEHUT

1/3




TR285F 108248

EE T REREAIEAZR
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BT FEH MER | B | R (1t Sv/B) (mSv/%E) R F2 (0870mSv/ ) EDE
No. AlRZ 5cm 50cm 1m 5cm 50cm 1m 5cm 50cm 1m
. 1 |EEHPR 0.07 0.07 0.06 0.36 0.36 0.34 | FHLUT [FHLT |FHLT
BRFRBEE |IRA4FB1S 108218 | 1418 | B
2 |BAO 0.07 0.06 0.06 0.35 0.32 032 | EHLTF |FHUT [FHUT
1 |EEHPR 0.05 0.05 0.05 0.28 0.28 0.27 | FHLUT [FHLT |FHLT
ELREER RARIBS 108178 | 1415 | £
2 |BAO 0.06 0.06 0.05 0.32 0.32 0.26 | FHLTF |FHLUT [FHUT
1 |EEHR 0.05 0.04 0.04 0.26 0.21 0.23 | FHLUT [FHLT |FHLT
FAIRERE FRBTEIMEN14F 11 | 108178 | 16:00 | B
2 |BAO 0.07 0.06 0.06 0.35 0.33 033 | EHLT |FHUT [FHUT
e e 1 |EEHPR 0.07 0.06 0.05 0.36 0.31 0.28 |FHUT [FHUT [FHUT
ff!‘ig EHAN2EI58 108178 | 1323 | &
b 7 2 |BAO 0.06 0.05 0.06 0.32 0.26 031 | EHLT |FHUT [FHUT
1 |EREPR 0.06 0.07 0.06 0.29 0.36 0.34 | FHLUT [FHLUT |FHLT
INEEY#E [EET—TH2&14%5 108218 | 13:50 | B
2 |BAO 0.06 0.06 0.06 0.31 0.31 0.29 | EHLT |FHUT [FHUT
spen— s 1 |EREPR 0.07 0.07 0.06 0.36 0.36 0.34 | FFHLUT [FHLUT |FHLT
ﬁ;aﬁf;} WA= TH3E262  |108188 | 1549 | 1
= 2 |BAO 0.07 0.07 0.07 0.38 0.39 0.39 | FHLUT [FHLUT |FHLT
_ 1 |BEERR 0.05 0.05 0.05 0.28 0.27 027 |FFHUT [FHUT [FHUT
ZIHTVWHHE  |EEF4FE205 108178 | 1347 | 2
2 |BAO 0.06 0.05 0.05 0.29 0.28 0.25 | FHLUT [FHLUT |FEHLT
1 |EESR 0.05 0.05 0.05 0.27 0.25 0.25 | FHUT | FHLUT [FHUT
ELRYEE |LE-TH6ES 108180 | 907 | B
RS T 2 |HAB 0.07 0.07 0.06 0.39 0.39 0.34 | FHUT |FHUT |FHUT
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No. |  HE% FTEH AER | B | xE (4 Sv/B%) (mSv/ &) W F19(0870mSv/ ) ENE
No. AlRZ 5cm 50cm 1m 5cm 50cm 1m 5cm 50cm 1m
_ 1 |ERERR 0.06 0.05 0.05 0.29 0.28 027 |FFHUT |FHUT |FHUT
20|MEREM EREMME32FEH20 (108188 | 11:31 | B
2 |BAO 0.09 0.09 0.09 0.47 0.48 047 | EHLTF |FHUT [FHUT
_ 1 |ERERR 0.07 0.07 0.06 0.35 0.35 033 |FFHLT |FHUT |FHUT
21/ NEREF INEIE 20t EI32F M3 | 108188 | 10:26 | BE
2 |BAO 0.10 0.10 0.11 0.55 0.55 0.57 | EHLTF |FHUT [FHUT
N N 1 |EESR 0.07 0.08 0.07 0.38 0.42 0.37 | LT |FHLT |FEHLUT
2|EERELE =/EMT B1H405 108188 | 1521 | B
2 |BAO 0.07 0.06 0.06 0.36 0.32 0.29 | EHLTF |FHUT [FHUT
1 |EESR 0.07 0.07 0.06 0.37 0.35 0.32 | LT |FHLT |FEHLUT
B EXREELE EXEHE1 B 108178 | 15117 | B
2 |HADO 0.08 0.08 0.07 0.43 0.42 0.39 | FHLUT [FHLUT |FHLT
1 |BEEPR 0.06 0.06 0.06 0.33 0.32 0.33 | LT |FHLUT |FEHLUT
24|AEIRELE HAZF/IH131E 2 108178 | 1103 | £
2 |BAO 0.06 0.06 0.06 0.32 0.33 032 | FFHLUT [FHLUT |FEHLT
1 | REEHAYO 0.08 0.07 0.07 0.44 0.39 0.38 | TFHUT |FHUT |FHUT
25| HRIBEEE HtE16ihE|63FM2 |108178 | 1216 | 2
2 |HAMEZEtRVA—HAYO 0.08 0.07 0.07 0.41 0.39 037 |FFHUT [FHUT [FHUT
1 |EREPR 0.06 0.07 0.06 0.34 0.36 0.32 | FHLUT [FHLUT |FHLT
26|)IINRELE JNRESHhE4F 108188 | 13:00 | B
2 |HAO 0.07 0.07 0.06 0.36 0.35 033 | FHUT |FHUT |FHUT
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W EROBRERELHITTIHE5DERX]
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